Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - IV-EXAMINATION — WINTER 2015

Subject Code: 340901 Date: 17/12/2015
Subject Name: Fundamentals of Electronics Circuits
Time: 02:30 PM TO 5:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic

Q.1 (@) Draw and explain circuit diagram and waveforms of full wave 07
bridge rectifier and also derive an equation for Edc & Irms value.
(b) Draw circuit diagram and explain the working of complementary 07
push pull Amplifier.
Q.2
(@) Which type of rectifier is generally used in electronic circuit? Why? 07
Explain the working with neat sketch.
(b) Draw and Explain block diagram of S.M.P.S. 07
OR
(b) List the various filter circuit and explain with circuit diagram any 07
one of them.
Q.3
(@) Draw and explain why transistor is normally used in CE connection 07
mode as an amplifier? Also draw its input & output wave forms.
(b) Draw and explain the circuit diagram of feedback type voltage 07
regulator circuit.
OR
Q.3 (a) Listthe various transistor biasing methods and explain any one of 07
them.
(b) Differentiate between voltage amplifier and power amplifier. 07
Q4
(@) Prove that overall gain with negative feedback in amplifier 07
AF=A/1+Ap.
(b) Compare with necessary circuit diagram Hartley and Colpitt 07
oscillators.
OR
Q.4 (a) Draw Schmitt trigger circuit and explain its working with using 07
wave shape
(b) Explain how (1) voltage (2) current (3) frequency and (4) phase 07
difference can be measured with the help of CRO.
Q.5

(@) Draw IC-555 showing its pin connections and explain 1C-555 as 07
a monostable multivibrator with necessary circuit diagram.
(b) Draw the block diagram of digital millimeter and explain it’s 07
working.
OR
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Draw block diagram of audio frequency generator and explain
function of each block.

Derive the expression for overall gain when three amplifier stages
are cascaded.
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Ual (¥)uleRAUas Sl A HUwA & A AHtA.

1C-55501l Ulet stautoiH €131, 1C-555 ol Hloll-R A
HElABR2R dRY duesAl.

Slyedt HAElHl2Rell oclls wigld €131 stal Axestal.
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